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Section A: Multiple Choice
Answer all questions (20 Marks)
For each of the following questions, place the appropriate letter in the box to indicate the
correct answer.

1 Which agricultural practice involves the growing of plants in nutrient solutions?

A biotechnology
B hydroponics

C hydrotherapy

D organic farming

2 What can cause physical weathering?

carbonation
oxidation
plant roots
running water

OoOow>»

3 The diagram shows a soil profile.

ground level

Which soil layer has most soil micro-organisms?
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4 The diagram shows the optimum pH for the growth of different crops. ”

crop  optimum pH range for growth
4 5 6 7 8

beans
cotton
groundnuts
maize
sorghum ——
sugar cane
tea |

What is the optimum pH range for maize?

A 55-65
B 55-7.0
C 6.0-70
D 6.0-8.0

5 How does a systemic insecticide get into a pest? It gets into the pest by

contact
eating

inhaling
sucking

OoOow>»

6  What is commonly used for treating wooden fencing posts?

aerosols
creosote
fungicides
petrol

oOoOw>

7 What is a weed?

a broad leaved plant
a fast growing plant
a narrow leaved plant
an unwanted plant

OO w>

8 What could be the effect of strong winds on a plant?

low rate of respiration

low rate of transpiration
physical damage of plant leaves
stunted growth in plant root

OO w>»
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9 Soil type can be identified using the ‘sausage’ test.
Which type of soil will form a ribbon that does not break?

clay
loam
sand
silt

OoOow>»

10 The chart compares indicator colour with pH value.

indicator colour

orange

yellow

pale green

blue green

pH value

6

8

Which colour indicates an alkaline soil?

blue green
orange
pale green
yellow

oOoOw>»

11 The diagram shows a maize plant.

On which part of the plant are the stamens found?
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12 Photosynthesis can be represented as:

13

14

15

16

| gas |
X + | water | ———

What are X and Y?

food substance
in cells

X Y
A carbon dioxide oxygen
B carbon dioxide nitrogen
C nitrogen oxygen
D oxygen carbon dioxide

What is meant by the term seed rate?

ooOow>»

Bile aids digestion in animals.
Where is bile stored?

A caecum

B duodenum
C gall bladder
D pancreas

What is an advantage of using concrete for floors, rather than earth, in livestock building?

It is a cheaper material.
It is easier to clean.
It is free from disease.

ooOow>»

Which term describes the difference between returns and variable costs in a balance

sheet?

A current balance
B gross margin

C net profit

D profit or loss

© ECOS 2011

the amount of seed that germinates

the amount of seed sown per unit area
the depth at which seed is sown

the time taken for the seed to germinate

There is less risk of animal injury.
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17 Which of the following leads to an increase in sales of a product when the price is constant? ”

decrease in income

decrease in the product
increase in similar products
increase in supply of a product

OoOow>»

18 What is the percentage of nitrogen in a 2:3:4 (36) fertiliser?

3%
8%
12%
16%

oo mw>»

19 Why do newly born calves need colostrum?

A for fast growth rate

to encourage scouring
to obtain antibodies

to obtain antibiotics

ooOow

20 What is the first action a farmer should take after noticing signs of ill health in chickens?

add antibodies to their diet
cull the infected birds
introduce a foot bath
isolate the sick birds

OoOow>»
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Section B: Short Answer Response Items
Answer all questions (40 Marks)

Name the farming system whereby farmers move from less productive to fertile land.

in?

............................................................................................................................................. [1]
Which term describes severe land degradation?
............................................................................................................................................. 1]
Name a common invasive weed that has been declared a national disaster in Swaziland.
............................................................................................................................................. 1]
(@) Name the type of reproduction that uses plant parts instead of seeds.
...................................................................................................................................... [1]
(b) Give one example of a crop plant where plant parts are used for reproduction.
...................................................................................................................................... 1]
(c) Name the type of germination for each of the following crops
(1) DBANS . e s aeaan [1]
(1) M@IZE ..o e e e [1]
Which term describes the number of animals per unit area of land?
............................................................................................................................................. [1]
State two ways of controlling soil temperature.
2 SO PSE
2 ettt eeeeeeeeeeeeaeeeeeeeeeeeeeeeaeseseeeeeeeeseaaasttetteeeeeeaaa————teeeeeeeaaanaa—aeeeeeeeeaaanrrrereaeeeeaaaans [2]
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What could be the result of high rainfall intensity on bare soil?

............................................................................................................................................. [1]
How are viral diseases prevented in poultry?
............................................................................................................................................. [1]
Give one instance where biotechnology can be used to improve yields
............................................................................................................................................. [1]
Name one career opportunity in agriculture.
............................................................................................................................................. [1]
State the role of light in photosynthesis.
............................................................................................................................................. 1]

What term describes the process by which energy is released from food substances in living
cells?

............................................................................................................................................. [1]
Name the two types of pollination.

L PO PPPPP
2SR UTPRPROPPRR [2]
What term describes an organism that depends on another for survival?
............................................................................................................................................. [1]
Name an example of a pest that feeds by biting and chewing plant parts.
............................................................................................................................................. [1]
Give two examples of intensive grazing systems.
LIPSO PRSPPI
2 PSP UP P OOTPPPROPPPR [2]
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Name the parts labelled A and B in the diagram below.

;3

O
A
B ettt ettt ettt ettt ettt e e et ettt et ee et et et e e e et et et et et e e ee e et et et er e e et e ee et enen et eeneees 2]

............................................................................................................................................. [1]
Name the type of irrigation that supplies water directly to the root zone of a crop

............................................................................................................................................. [1]
What term describes chemicals used to Kill weeds? .............ooovvieiiiiiiiiii e [1]

What is the name of the practice of growing maize and beans in the same field in one
season?

............................................................................................................................................. [1]
Give two examples of organic fertilisers.

L PO PPPPP
2 PSR PTPRPROPPPR [2]
Give one way in which water is lost from the sOil. ........ccooeiiiiiiiiii e 1]
Complete the following sentence.

People who pay for using farm land are called ... 1]
What is the watery food mixture after digestion in the stomach called?
............................................................................................................................................ [1]
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48 Name a water storage method which is likely to provide clean water. ”

............................................................................................................................................. [1]
49 Describe how a saw can be maintained to last longer.

............................................................................................................................................. [2]
50 Why is the wheelbarrow classified as intermediate technology?

............................................................................................................................................. 2]

END OF PAPER
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